











































































REPORT NO.: 4790733861-1-RF-6

Page 588 of 608

## 11.7. APPENDIX F: CONTENTION BASED PROTOCOL 11.7.1. Test Result

Test Mode	Antenna	EUT Frequency	AWGN Frequency	Injected AWGN Power	Minimum Antenna Gain	Path Loss	Adjusted Power Result	Limit	UT Tx Status
Wide	[MHz]	[MHz]	[dBm]	[dBi]	[dB]	[dBm]	[dBm]	(Note1)	
				-69.17	2.83	2	-70.0	-62	ON
		6115	6115	-64.67	2.83	2	-65.5	-62	Minimal
				-61.47	2.83	2	-62.3	-62	OFF
				-69.17	2.83	2	-70.0	-62	ON
		6435	6435	-63.67	2.83	2	-64.5	-62	Minimal
440500	A = 40			-61.37	2.83	2	-62.2	-62	OFF
11BE20	Ant2			-69.17	2.83	2	-70.0	-62	ON
		6535	6535	-63.77	2.83	2	-64.6	-62	Minimal
				-61.67	2.83	2	-62.5	-62	OFF
				-69.17	2.83	2	-70.0	-62	ON
		6895	6895	-64.17	2.83	2	-65.0	-62	Minimal
				-61.57	2.83	2	-62.4	-62	OFF
				-69.17	2.83	2	-70.0	-62	ON
			6110	-63.67	2.83	2	-64.5	-62	Minimal
				-61.47	2.83	2	-62.3	-62	OFF
			6265	-69.17	2.83	2	-70.0	-62	ON
		6265		-65.37	2.83	2	-66.2	-62	Minimal
				-61.37	2.83	2	-62.2	-62	OFF
	Ant2		6420	-69.17	2.83	2	-70.0	-62	ON
				-64.67	2.83	2	-65.5	-62	Minimal
11BE320				-61.57	2.83	2	-62.4	-62	OFF
TIBESZO	AIILZ		6750	-69.17	2.83	2	-70.0	-62	ON
				-63.77	2.83	2	-64.6	-62	Minimal
				-61.37	2.83	2	-62.2	-62	OFF
				-69.17	2.83	2	-70.0	-62	ON
		6905	6905	-64.57	2.83	2	-65.4	-62	Minimal
				-61.67	2.83	2	-62.5	-62	OFF
			7060	-69.17	2.83	2	-70.0	-62	ON
				-64.87	2.83	2	-65.7	-62	Minimal
				-61.77	2.83	2	-62.6	-62	OFF



Test Mode	Antenna	EUT Frequency [MHz]	AWO Interfer Freque [MH	ence ency	Test Number [n]	Number Detected [n]	Result [%]	Limit [%]	Verdict
		6115	Center	6115	10	10	100	90	PASS
11BE20MIMO	Ant2	6435	Center	6435	10	10	100	90	PASS
TIBEZUMINO	AIILZ	6535	Center	6535	10	10	100	90	PASS
		6895	Center	6895	10	10	100	90	PASS
			Low	6110	10	10	100	90	PASS
11BE320MIMO	Ant2	6265	Center	6265	10	10	100	90	PASS
			High	6420	10	10	100	90	PASS

Test Mode	Antenna	EUT Frequency [MHz]	AWC Interfer Freque [MH	ence ency z]	Test Time	Is Detected	Verdict
			Center	6115	1	Yes	PASS
			Center	6115	2	Yes	PASS
			Center	6115	3	Yes	PASS
			Center	6115	4	Yes	PASS
		6115	Center	6115	5	Yes	PASS
			Center	6115	6	Yes	PASS
			Center	6115	7	Yes	PASS
			Center	6115	8	Yes	PASS
			Center	6115	9	Yes	PASS
			Center	6115	10	Yes	PASS
			Center	6435	1	Yes	PASS
			Center	6435	2	Yes	PASS
			Center	6435	3	Yes	PASS
	Ant5	0.405	Center	6435	4	Yes	PASS
			Center	6435	5	Yes	PASS
		6435	Center	6435	6	Yes	PASS
			Center	6435	7	Yes	PASS
			Center	6435	8	Yes	PASS
			Center	6435	9	Yes	PASS
11BE20MIMO			Center	6435	10	Yes	PASS
			Center	6535	1	Yes	PASS
			Center	6535	2	Yes	PASS
			Center	6535	3	Yes	PASS
			Center	6535	4	Yes	PASS
		GEO.E	Center	6535	5	Yes	PASS
		6535	Center	6535	6	Yes	PASS
			Center	6535	7	Yes	PASS
			Center	6535	8	Yes	PASS
			Center	6535	9	Yes	PASS
			Center	6535	10	Yes	PASS
		6895	Center	6895	1	Yes	PASS
			Center	6895	2	Yes	PASS
			Center	6895	3	Yes	PASS
			Center	6895	4	Yes	PASS
			Center	6895	5	Yes	PASS
			Center	6895	6	Yes	PASS
			Center	6895	7	Yes	PASS
			Center	6895	8	Yes	PASS
		[	Center	6895	9	Yes	PASS
			Center	6895	10	Yes	PASS
	Ant5	6265	Low	6110	1	Yes	PASS
			Low	6110	2	Yes	PASS
11BE320MIMO			Low	6110	3	Yes	PASS
I I DESZUMINIU			Low	6110	4	Yes	PASS
			Low	6110	5	Yes	PASS
	<u>                                     </u>		Low	6110	6	Yes	PASS



		Low	6110	7	Yes	PASS
		Low Low	6110		Yes	PASS
		Low	6110	9	Yes	PASS
		Low	6110	10	Yes	PASS
		Center	6265	1	Yes	PASS
		Center	6265	2	Yes	PASS
		Center	6265	3	Yes	PASS
		Center	6265	<u>3</u>	Yes	PASS
		Center	6265	5	Yes	PASS
		Center	6265	6	Yes	PASS
		Center	6265	<u></u>	Yes	PASS
		Center	6265	8	Yes	PASS
		Center	6265	9	Yes	PASS
		Center	6265	10	Yes	PASS
					Yes	
		High	6420	1		PASS
		High High	6420 6420	3	Yes Yes	PASS PASS
		_		3 4		
		High	6420	4 5	Yes	PASS
		High	6420		Yes	PASS
		High	6420	6	Yes	PASS
		High	6420	7	Yes	PASS
		High	6420	8	Yes	PASS
		High	6420	9	Yes	PASS
_		High	6420	10	Yes	PASS
		Low	6750	1	Yes	PASS
		Low	6750	2	Yes	PASS
		Low	6750	3	Yes	PASS
		Low	6750	4	Yes	PASS
		Low	6750	5	Yes	PASS
		Low	6750	6	Yes	PASS
		Low	6750	7	Yes	PASS
		Low	6750	8	Yes	PASS
		Low	6750	9	Yes	PASS
		Low	6750	10	Yes	PASS
		Center	6905	1	Yes	PASS
		Center	6905	2	Yes	PASS
		Center	6905	3	Yes	PASS
		Center	6905	4	Yes	PASS
	6905	Center	6905	5	Yes	PASS
	0000	Center	6905	6	Yes	PASS
		Center	6905	7	Yes	PASS
		Center	6905	8	Yes	PASS
		Center	6905	9	Yes	PASS
		Center	6905	10	Yes	PASS
		High	7060	1	Yes	PASS
		High	7060	2	Yes	PASS
		High	7060	3	Yes	PASS
		High	7060	4	Yes	PASS
		High	7060	5	Yes	PASS
		High	7060	6	Yes	PASS
		High	7060	7	Yes	PASS
		High	7060	8	Yes	PASS
		High	7060	9	Yes	PASS
		High	7060	10	Yes	PASS



## 11.7.2. Test Graphs (Worst Case)













